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Barr body is

a. Activated ‘X’ chromosome

b. Inactivated golgi complex

c. Inactivated ‘X’ chromosome

d. Inactivated dictyosome

e. Answer not known

UTm 2 _muL] eledlLig)]

a. Gawed Memeouled 2 eitem ‘X GGrmGTGamID
b. QzweouL s Gsmevensd gnl B GLITH6IT
c. QweouLrs ‘X' &GymGom@gmid

d. GFweou s 19&IGUTGFTD

e. alewL Qflwaleoensv

Ovulation generally occurs

a. Just before menstruation b. During menstruation

c. Just after menstruation d. Midway through menstrual cycle

e. Answer not known

WL OeualuBHe0 6hdH BHTeSHH60 HewL GILIMID

a. TSI TUI (LP6ITL| b. wrgailmul sreudhdeCurg

C. LOTHAILTUI HTeVLD Li6iT6unme0 d. orgalLmul a&pBd srevbHer Sent Gui
e. alewL OFflwaleoenso

Match the following;:

A. Corpus luteum 1. Testosterone

B. Graafian follicle 2. Inhibin

C. Sertoli cells 3. Theca interna

D. Leydig's cells 4. Corpus albicans
A B C D

a. 2 1 3 4

b. 4 3 2 1

c. 1 2 3 4

d 3 4 1 2

e. Answer not known
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QUT(HSHHIS.

A. &riTued eI lguitb 1. OLerdBLmerdle@ymest

B. &y .west @lienL 2. BeitansiLiesr

C. Q&M GLmed OgFevdei 3. HHBT E)6OTL TeorT

D. 60igs GQaFevmel 4. ST SI6VLIEH65T6rD
A B C

2 1 3

4 3 2

1 2 3

.3 4 1

alemL  GFTuialsvensy

N = =T

a
b.
C.
d
e.
Human ovum contains no yolk. How can we call it?

a. Alecithal Egg b. Isolecithal Egg c. Mesolecithal Egg
d. Telolecithal Egg e. Answer not known

H(HEY6WIa| DIBB OAH DIEWIL  DIEMIONENT 6TIMTHR DIENLPEHEVOTLD?

a. geudlHHe0 (1L ML b. ;GG flHHe0 (LpL eni

c. 188FTedHHe0 WL ewl d. 1BaTGevd&HHe0 (IpL dL
e. alewL OFHflwaleoenso

Quantum nature of light is not supported by the phenomenon of
a. Compton effect

b. Photoelectric effect

c. Emission and Absorption Spectrum

d. Interference of light waves

e. Answer not known

elulelr  GoumewiLlD O&HTeTeNd  HDSHHTRILIBMIGT  61HBHMBU  aleneTenal
allendbarg?

a. STDL6T 6llenere)

b. @efifer alemerey

C. 2 101be] FIBLOTEN6Y LOBBID o L &6alT HIBLOTensv

d. @l gmevsefller GuISS G alanere)

e. alemL OFfwalsvensv

A convex lens of power 3 diopter and a concave lens of power 2 diopter
combined together. Then the equivalent power is

a. Concave lens of 1 diopter b. Convex lens of 1 diopter

c. Concave lens of 5 diopter d. Convex lens of 5 diopter

e. Answer not known

Gall  OeveliFladt &HmedT 3 LWTILT BB  GWoeveTdledt &HmesT 2 L WML
SiuBBler HBeT Hemenisd Ll ereueurs ESmob@EL?
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10.
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a. GWOeoaTEeT Hmeit 1 Lwmiif b. @alOeverdler SHmest 1 Luwimiii
c. GWeeveandler FHBesT 5 LwimiLiT d. @elGevendlet Hmeir 5 Luwimii
e. alewL OEMwalevensv

A laser beam is used for carrying out surgery because it

a. is highly coherent beam b. is highly directional beam

c. is sharply focused d. is highly monochromatic

e. Answer not known

oIpiwel FaFemg CFuiw CeosT smenm LWSTLGSHSLILGSBSEH 6J0leemied DI
a. dmbhs @fluied sBeHBUWITGLD. b. fimpbs HosF sBoB DGLD.

C. SwiTemWmel Galwd O&TewmrL d. fivbs QBB BB Wig

e. alemL GHflwailsdenen

The length and breadth of a rectangular field are in the ratio 3:2. If the area
of the field is 3456 m?, find the cost of fencing the field at Rs. 3.50 per
metre.

a. Rs. 12, 096 b. Rs. 2,016 c. Rs. 84

d. Rs. 840 e. Answer not known

R OFeleus eauulellell [HoNlD LOBBID DiFeOD 3:2 elaiB AlFHHHeL 2 _6iTeren.
alweder Uglilene] 3456 15 &% G(HHIHTe0 allsvsHE Galeldl  SIenLDLILISHBEHT60T
GFevemeu LB L (h&@ 5.3.50 QIHD HTewIH.

a. ep. 12, 096 b. em. 2,016 C. em. 84

d. em. 840 e. alenL  Oxflwalevemev

Area of rhombus with diagonals as 6 cm and 8 cm is

a.12 cm? b. 18 cm?2 c. 24 cm?

d. 36 cm? e. Answer not known

eLPEMELAIL L HIH6T 6 OF.10 mmid 8.0F.10 GeTewiL FTul FHTFHIHT LFLIL
a.12 5.05.5 b. 18 5.05.15 C. 24 5.05.18

d. 36 .05.15 e. alewL Gxfwaisvenev

Calculate the area of a sector whose diameter and arc length are 30cm and
26cm respectively.
a. 195 sq.cm b. 175 sq.cm c. 165 sq.c

d. 185 sq.cm e. Answer not known
all L 30 G&g.f aleveder mHemd 26 O&F.0 OsTewi(heien eu'L  Casmewrl
uGHUler Ll SHTeis.

a.195 #.05.8 b.175 #.05.6 c. 165 #.0.8
d. 185 #.05.85 e. alewL Gxfwalsvensv




11.

12.

13.

Match the following;:

A. Myopia 1. Bifocal lens
B. Hyper Metropia 2. Cylindrical lens
C. Presbyopia (above 45yrs of age) 3. Concave lens
D. Astigmatism 4. Convex lens
A B C D
a. 4 3 1 2
b. 3 4 1 2
c. 2 4 1 3
d 1 2 3 4 e. Answer not known
QUIT(HSHSHIS.
A. A LlunTeneu 1. Bm&Galw ale0ane
B. smyliuniene 2. 2_(Hemem @l606em6v
C. eprigiiunienau (45 euwgids@ Gwed) 3. G alevenev
D. o @m dinilenip 4. @al aleLensv
A B C D
a. 4 3 1 2
b. 3 4 1 2
C 2 4 1 3
d 1 2 3 4 e. alemL O fuwialedenso
The mirror used in astronomical telescope and search light is
a. Convex mirror b. Plane mirror c. Cylind rical mirror
d. Parabolic mirror e. Answer not known
aurenwed OHTemevCHTHS oBBID CHBH alend@Gdeiled LWELHLD ilg
a. ol 99 b. Fwsen syl9 C. 2_(Henell &g
d. ugeuemenus &ylg e. alenL O fuwialedenso
Match the following:
List I List IT
A. Bassein oilfield 1. Gujarath Coast
B. Digboi oilfield 2. Western Coast
C. Ankleshwar oilfield 3. Eastern Coast
D. Ravv oilfield 4. Brahmaputra valley
A B C D
a. 2 4 1 3
b. 1 2 3 4
c. 2 3 4 1
d 3 4 1 2
e. Answer not known
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14.

15.

16.

17.

LeiTeu(heueTeuBens  CILIT(HHSHaLD:

U iguiey I U iguiev 1T

A. urdflesr e1emTOGMIUT GUULIGD l. QTS HLBHEO]

B. gaumul etewtOemrul  6uulsd GoB@ HLBHM]T

C. 91m156e0aaIT 6TewTGlemIUI 66D HIPHG HLBHED]

D. yeleur erewrGemiul 6uuIGD UTLDOLSSHITT  LIGTeTSHSHTHEG
A B C D

a. 2 4 1 3

b. 1 2 3 4

C. 2 3 4 1

d 3 4 1 2

e. alewL  OFHflwailevenen

Sl

Which state has the largest reserves of copper ore in India?

a. Rajasthan b. Arunachal Pradesh c. Uttra Pradesh
d. Chhattisgrh e. Answer not known

BphHwmaled STOTLILIGE| DIFHSHPEITeN LDTHI6VD 617

a. @ITegervgmei b. &memmgev LIgBHEFID C. 2 5auiyGsaib
d. gl ieedsi e. ol OFHfluialsdensv

Who is the Father of Indian Renaissance?

a. Raja Ram Mohan Roy b. David Hare

c. Ishwar Chandra Vidyasagar d. Rabindra Nath Tagore
e. Answer not known

@hH W 1BIeTFHUNST HhHengd WTT?

a. gream gmb Gorsesr [l b. GLall amGy

C. FoRaUT FhHAT alHWTFTHT d. 1By BIH SHTami

e. alewL GFfwealedenso

The Arya Mahila Samaj at Poona in 1882, was founded by

a. Pandit Ramabai b. Madam Bhikaji Cama c. Nanibala Devi
d. Nalini Sen Gupta e. Answer not known

1882-10 sewi(hy Leommaled Syflul oslenT Fomengy HimialluleuiT

a. LewngLl  JLomumul b. GoLid sbsmey sEmiom C. mreiumeur CHal
d. melel Qe @LHT e. alewL OFHfluwaiedensv

The founder of Deva Samaj in 1887 was

a. Swamy Dhayananda Saraswathi  b. Shiv Narain Agnihotri
c. Athmarao Pandurang d. Kesavachandra Sen

e. Answer not known
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18.

19.

20.

21.

1887-600 Bmpeu gFoTmSHms CHTHBBIalSHHeT

a. &eumll SWTenhsd &FJeroeud) b. deu mpryTwent il CammsHaif
C. SLHIOPTe LGB d. Gxsgeaugndly OFe

e. alomL G flwailsdenen

The area of a square and a rectangle are equal. If the side of a square is 40
cm and the breadth of the rectangle is 25 cm, then the length of the
rectangle is

a. 58 cm b. 60 cm c. 64 cm

d. 68 cm e. Answer not known

QT FHTD WLBBID T OFelusHHT UTILS6T FIOW. FHTHHT LHBD 40
.15, CFalusHIHET DiBeD 25 GF.L5 eleled GFeleusHSH6 Herld

a. 58 GF.15 b. 60 G&.15 C. 64 QF.15

d. 68 QF.16 e. alenL Oxflwalevemev

A wheel makes 1000 revolutions in covering a distance of 88 km. Find the
radius of the wheel

a.13 m b.12m c. 11 m

d. 14 m e. Answer not known

88 &5 OHTen6va] CF6LMSHBE) QM  FHBID 1000  SBEBIGH6T
ABSHHHOHTOTHBHI. DIFFHEHTHDHG UJLD HT60TH.

a.13m b.12m c.11m

d. 14 m e. alewL Oxflwalevemev

Find the area of equilateral triangle whose perimeter is 180 cm.
a. 155.88 cm? b. 1558.8cm? c. 900 cm?

d. 900.8cm?2 e. Answer not known
180 G5 aMmeney OFHMTeNIL @ gFUSD (PHCHTETHH 6 LTLILIGTN6ID
BTGNS,

a. 155.88 cm? b. 1558.8cm?2 c. 900 cm?2
d. 900.8cm?2 e. alewL Gxfwalsvensv

Sri Naryana Guru Swamy initiated a programme of action called Sri
Narayana Dharma Paripalana Yogam which took up issues regarding:

1. Encouraging inter-caste marriages

ii.  Right of admission to public schools

iii. Recruitment to Government services

iv.  Access to temples and roads for all

a. 1, ii, and iii b. ii, iii and iv c.1,1ii and iv

c.1,1i, iii and iv e. Answer not known
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22.

23.

24.
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fBTITWeT  GHITO  SHlumSwl, BIFTWe ST uflumes SuisbsD  6bhS
alaguImismen (HTORTIHHHHI?

1. &6ULIL|G H(HLOTHNS 26161 & 60

1.  Qurgil ueTefliseied OIS

1.  9os Hleomdelled GeauemeveuTuili]

1v. SlaalhbGd CoHTalevsmeT LOBBID FTensvdeilsd GFe060 iEIDD)

a. 1, 11 mmd 1ii b. ii, iii @b iv C. 1, 111 LoBmID 1v

d. i, ii, iii wBmd iv e. alewL Qg flwaledenso

The three-day meeting of Youth 20 was held in April at

a. Hampi b. Mahabalipuram c. Arikamedu
d. Auroville e. Answer not known
guyeded BewenehT 20 (Y20) cpaliB BTeT &nlLd HedLOUBB S Ib
a. amibii b. wasmuedLyid c. 9fldas6®
d. euBymaied e. alewL Oxflwaisvenev

Identify the correct statements

1. Tamil Nadu CM MK Stalin had addressed the first national conference
of the All India Federation for Social Justice on April 3.

2. It was convened by Tamil Nadu Government

a. 1 only b. 2 only c. Both1and 2

d. Neither 1 nor2  e. Answer not known

gflwme FmMmIBemeNnsd Hewil Ml

1. SODBETH (PHEVMIDEFFT (1p.&. eOLTI& gLIed 3 SDSIm idHev bl
Fepd BHFH Fnl Lenwolilet (1pHev ChHdlul BTl Iged 2 emFuImminsletTT

2. @by WIHTLML SODHTH DJF BLHHUWISH

a. 1 wl @G b. 2w’ @b c. 1 wBpb 2 SewiGD

d. ®yewiBLosv6v e. alewL Oxflwaisvenev

The theme of first Global Buddhist Summit held in New Delhi is
a. Together for Peace: Respect, Safety and Dignity for all

b. The Human of the future

c. Responses to contemporary challenges : philosophy to praxis
d. Partnership for peace : dignity for all

e. Answer not known

Usl  FHevallulled HOLOUBB (PpHev 2 eudenmalul LHH o FF  OTHITLIQ6s

SHLICLIT(H6IT

a. QIMDHHHTH ETBILGETD : SlMDTAUHBGWD DG, UTHISTIL  OBEBID
& 63916001 LLILD

b. edtaTevdhHe 06 Heor

C. FLDHMEL FOUTELHEHSHBMTE LIHGOHET : HEDL (LPnBHBTR HHHIGILD

d. &imHEEHTET Fnl LD : DIeNeTaI(hEBGWD  BHearTeniluwib

e. alewL G fwealedsnsn




25.

26.

27.

28.

Choose the correct statements

1. INS Androth is the second in eight ship series of Anti-Submarine
Warfare Shallow Water Craft

2. It is claimed to be the most silent ship in India

3. It can attain a maximum speed of 25 knots

Which of the above statements is/are true?

a.1and 2 only b.1 and 3 only c. 2 and 3 only

d. All the above e. Answer not knwn

gilwme nMBmIBHeneNn eIl Nle

1. INS soewn Gurgsmeigl ol (b BHiepsd ey suposnB  GuITéaLiLeD
(ASWSWC) auflenguied SgewiLmoug i@

2. @5 @bFHwneler 10s DeHOHUWITET HLILD 6161 FnBLILBSBSI.

3. 85 FBUFIONS 25 BT CoudbHmd DL UIbHIIQUIFI.

a. 1, 2 w @ b. 1, 3 w ' EW Cc. 2, 3 WL (B

d. Bmal SiMRIHHID e. alewL Oxflwaisvenev

The first female Air Force Officer to receive Vayu Seva medal is

a. Gunjan Saxena  b. Avani Chaturvedi c. Deepika Misra

d. Shaliza Dhami e. Answer not known

outy] Gaeumr LSS OeuaiB (PHeO GlLewT alDTeIlILL OIS

a. Gehgar gH8Femm b, oumel FaHTCMS c. gism erdgm

d. smelagr smo e. alewL O flwealsvenev

‘Digi Claim’ is a module of Agriculture ministry under the scheme of
a. PM Fasal Bima Yojana b. PM Krishi Sinchai Yojana

c. Jan DhanYojana d. Rashtriya Krishi Vikas Yojana

e. Answer not known

Gouenmmewst  SIMWFFHHHG ‘92 HOeMUID’ CFTGH 6hSH HLLSHIHET S
OHTLmISLILIL L &7

a. Myswfer ugev fior Al b, yswoflear Afad Hehaus HiLib

d. me&r sar HLib d. gradgflu Aflag alererd LD

e. alemL OFfwalsvensv

What is the least number of square tiles required to pave the floor of a
room 16 m 25 cm long and 9 m 10 cm broad?

a. 315 b. 175 c. 350

d. 530 e. Answer not known

166 25 Qg5 perd, 95 10 OF5 SiBeoIpD OFBTRIL  @(H HOFULTLIGNL

(PPUGIOTES  Hewme] OFUIusBG CHemeuwimer GHOBHSULF FHT  6UQge6
BHeM6T  6T6memlbenHemUIs HeuwlBLIGSHHD?

a. 315 b. 175 c. 350
d. 530 e. alewL Gxfwalsvensv
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29.

30.

31.

32.

33.

If the sides of a triangle are 3 cm, 4 cm and 5 cm, then the area is
a. 3 cm? b. 6 cm? c. 9 cm?

d. 12 cm? e. Answer not known

QM WPECHTMIGHIA LbE Seneyser 3 6F.5., 4 Q5.5 wBLBILD 5 GF.15 ereled
SDISH6T LITLILIGT6Y

a. 3 Qa2 b. 6 Q2 c.9 Qa2

d. 12 Q&2 e. alewL Gxfwalsdensv

The perimeter of semicircle with radius 28 cm is

a. 88 cm b. 116 cm c. 144 cm
d.56 cm e. Answer not known

I 28 OF.15 2 _emLUl SIMIAIL L SHFHT SHBBETeUTEIS]

a. 88 cm b. 116 cm c. 144 cm
d.56 cm e. alenL Oxflwalevemev

Arrange the following states in ascending order based on their collection
of direct taxes in 2021-22

1. Delhi 2. Tamilnadu 3. Karnataka

4. Maharashtra 5. Gujarat

a.3,1,2,4,5 b.1,5,3,2,4 c.5,2,3,1,4
d.53,4,1,2 e. Answer not known

2021-228110  Spewriged QUL GhTaps eufl  su@emevll OUTBISHSHI  LledTeu(HLD
LOMHl6VmIGem6N  gJmleuflengILIHSH SIS

1. OL6vad 2. SODHTH 3. HITBTL&ST

4. LDSMITARQTLD 5. &QITH

a.3,1,2,4,5 b.1,5,3,2, 4 c.52,3,1,4
d.53,4,1,2 e. alenL O fuwelsvensv

Who was called the mother of landsat?

a. Roselind Franklin b. Virginia Norwood
c. Katherine Johnson d. Mary Jackson

e. Answer not known

GovemTL &ML 19601 HTUI 6I0THI DIGNLPSSLILL L 6T uImiT?
a. Qyrgelan. ymhibeienr b, eutefefiwm Gmmitay
c. Casamfer mmeiaei d. Guofl rdFe

e. alemL OFfwalsvensv

The first ever Indian to complete the Golden Globe race 2022

a. Abhilash Tomy b. Prabhat Koli c. Amit Kshatriya
d. Krishna Prakash e. Answer not known
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GameoLer &Gy Gred 2022 g3 UTHF (PHL BHSHWIT
a. olevrad GLmLo b. yurg Gasmel
d. Amaden Lysrad e. alenL Oxflwalsvenev

34. Match the following
A.SLINEX 2023 1. Andaman & Nicobar

B. KAVACH 2. Greece
C. Iniochos 23 3. Colombo
D. Orion 4. France
A B C D
a. 3 2 4 1
b. 3 1 2 4
C. 2 1 4 3
d 1 2 3 4
e. Answer not known
QUT(HHHIH
A. SLINEX 2023 1. SIbsoTer WBBID BGSTLIT
B. seurF 2. HCrhbasID
C. Iniochos 23 3. GamupibLy
D. gflwer 4. Ugmeirerd
A B C D
a. 3 2 4 1
b. 3 1 2 4
C. 2 1 4 3
d 1 2 3 4

e. allewL  Oxflwalsvensv

35. Charity is one which is given to

C. OIfs agdHMwm

a. Poor b. Saint c. Aged people

d. Physically challenged e. Answer not known
WIT(H&b@G FeUBHl Fend?

a. aNlWeITHEhHE, b. simalseEndE

C. (WHCWTTHEHHSE) d. wiBmIsHBarTelsEnsd
e. allewL  Oxflwalsvensv

36. Fill in the blank
Tis bitter pain to die, 'Tis worse to live.
For him who nothing finds to
a. Food b. give
d. measure e. Answer not known
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c. blame




37.

38.

39.

Camyl L &L HmdH HILILD
F1HeV6 DI SH Hevenew BeHHT LD

@nUWWITES 6L
a. 2_ewieL b. Fae0 C. uf
d. seney e. alewL Oxflweaisvenev

Which among the following is Kural?
a. “Take this”. Better than that is to say, “I do not want it”.
It is a dishonor to say, “Give me something.”
b. On the other hand, it is a greater dishonor to reply,
“I will give nothing.”
c. Even if someone is ready to give their life, don’t get it
d. To receive is a vice
e. Answer not known
LTedTeM(HEUGTOUBMIGT 618 (HM6NT?
a. GameTlenard OQBHTHHHD 2 WIMHHTH DIH6IHIT
Osmeir Goredl 6163TB6L
b. FOwer ByHsHe0 DOHH@HH DSOS
FOWeiTeTaiIBeL SiFHeTenild SIbHSH6TNI
C. @1 2 WIGIeIb OBTETEHHD HI)
d. peveoTm eTeflanid GBTeTeLS S
e. alewL GO fuwealedensn

Which of the following statement is false in a Parallelogram?
a. The opposite sides are parallel

b. The opposite angles and sides are equal

c. The diagonals are equal

d. The diagonals bisect each other

e. Answer not known

QT DB THHL 61H SHOUBTeT Fnmml?

a. GFHT USHBHIGBET EeneuTLITEGLD

b. 1Oyt CHTWIBIBET OBBID LISBBIBET FIOIDTGHLD
C. clpen6ev @Il L MIG6M6sT HeMmIS@EHLD FLOLDTELD

d. cpemev &Il L BIB6T QaTedBOWITSIBI B)H FLodHIMSIBLD
e. alewL G fwaledensn

A garden is in the form of a trapezium. The parallel sides are 40 m and 30
m. The perpendicular distance between the parallel side is 25 m. Find the
area of the garden.

a. 874 m2 b.875 m?2 c. 872 m2
d. 870 m2 e. Answer not known
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40.

41.

42.

m GCxmlLiomeig Ffleusd algalsd o 6Tengl. SiHeT DenewiliLibemiben 40 LS,

30 £ B ILSIhIBEHHEH QLG o 6en  GFTemevey 25 LS.
GHTLL SHSHletT LFLILIGNG)] HT6HIb.

a. 874 m2 b.875 m? c. 872 m?2

d. 870 m? e. alewL G fNwalsvenev

If the length of the diagonal of a square is 40 cm, then its perimeter must
be

a.80 V2 cm b. 2042 cm c. 10vV2cm

d. 160V2cm e. Answer not known

Q(h FRHTHHeT cpemevall L et Hend 40 OF5 eTellen, DIGH6IT FBM6Ne)]
a5 Qmbd Geuewi(BLd.

a. 80 V2 Q&S b. 2042 Q&S c. 1042 Q&8

d. 16042 Q&8 e. alenL GOfualsiensy

Which is more distressing than begging?

a. hunger b. living in poverty

c. not sharing food with others d. being selfish

e. Answer not known

QriiLmgall  SHIGTULDTEISI 6157

a. ud b. eumieniouied eumbsHe0 C. LIGSSIwIemTH(HSHSH60
d. swpeowTulBrssd €. alomr BHfwialsdenso

Find out the opt Kural for the following
Not to adopt the mean expedient of saying "I have nothing," but to give, is
the characteristic of the mad of noble birth.
a. The suppliants' cry for aid yields scant delight,
Until you see his face with grateful gladness bright.
b. 'Mid devotees they're great who hunger's pangs sustain,
Who hunger's pangs relieve a higher merit gain.
c. Let man relieve the wasting hunger men endure;
For treasure gained thus finds he treasure-house secure.
d. I've nought' is ne'er the high-born man's reply;
He gives to those who raise themselves that cry.

e. Answer not known
Nesteupld QUTHEHSHEG CUTHSHSHWTET GBeneT BHTey GFUIH
©)606m60 61601 SHlIWIen] T(HSHHIMTHGHLD (pest@u O\ T(H (G MI(EH6U0TLD
GlpbEHeuIL D 2 6wi(H
a. Qeremgl BIHEl L[bHH0 SIhSHeUT
BI(LPSBHI HTEID D|61T6)]
b. euBmpeutT Bped ufoBmed DLl
LOTBEIeUTT SLBMevles L6
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C. 9IBBTT IPLF HTHHeL S .CHT(HeU6T
QuBmTeT GUT(HeTeneUll L

d. BevETEIFIMID 6T6UAID 2 _@IUITENID FFdH6D
GHEVEITR_6MLLITGT HemT@eml 2 61

e. allewL Ggfwealevenesv

43.  Which is wealth of wealth?
a. Wealth of property b. Wealth of Kindness
c. Wealth of Listening d. Bothb & ¢
e. Answer not known
CFevauSHSIeNT FBhHe GFeveud 61gH?
a. Gumpl GFsvalld b. &imLGFevauDd
d.b & ¢ @yewi e. alewL Oxflwaisvenev

44.  Which will protect one from this evil world?

a. Wealth b. empathy c. Love
d. Humility e. Answer not known

SWalT o 0sHHeV(HHBH QR(HEUD]T 6I1FH HTHGLD?

a. GFevauld b. eimei C. OleiL|
d. uewfley e. alewL Oaxflweaisveney

45.  Which among the following is the apt for the Kural?

Cc. GoalFGgsaild

Who for undying souls of men provides with gracious zeal,
In his own soul the dreaded guilt of sin shall never feel.

a. And is there bar that can even love restrain?
The tiny tear shall make the lover's secret plain
b. The loveless to themselves belong alone;
The loving men are others' to the very bone

c. From love fond yearning springs for union sweet of minds;
And that the bond of rare excelling friendship binds

d. The unwise deem love virtue only can sustain,
It also helps the man who evil would restrain

e. Answer not known

LNeiTeu(HD GSMEHHEG CUTHHBHIOTET GHBT 6157

eTeIUWIT Lol DyHeTTeTeUTTEG EeL6IEVEIILI

SHI@IUIT Dlehad allenent

a. 9LIBGL 2 MICLT DML HSGHHIHTD DYTeU6VT
L|6OTB6RIT  LLF6D SH(THLD

b. ©emleonT 616060TID HLDDHEGTWIT 6Bt DL WITT
e ld o MwiT LImiTshG

C. QRNFDILD SHYTEUD 2 DL MID DISHIFEDILD
HEWIL| 6leTeID BTLTEF FImUIL
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46.

47.

48.

49.

d. oBsIBCs S ETT OU6TL SslwimT
IOBSSBSD 1”6 BHlemeuwt
e. alemL G fluwailsvenso

Which is the greatest source of profit to life?

a. Thoandrin pukazhodu thoandruka

b. Pukazhpada vaazhaadhaar thannhoavar

c. Vasaiyozhiya vaazhvaarae vaazhvaar

d. eedhal isaipada vaazhdhal

e. Answer not known

o ulhédE@ eagluiomeug wrg?

a. Gxpremier Lsopr®h CHTemis b. uspuL eumprHTT HHGHTEUTT
C. auemFawmpul aumpeur@y eumDeUTT d. FHe0 BFLL eUTPSH6D

e. alemL OFfuwalsvensv

There is nothing that stands forth in the world imperishable, except

a. wealth b. fame d. mendicancy

d. the dread of mendicancy e. Answer not known

® 0BHHL PUUBMB @H OLUTHENTS SDIOUWITIOED HlMEVBIBH UeLVHI 61817

a. GFeveuLD b. ysip C. ®yey

d. 8yeussib e. el Oxfluiailevensy

Find the area of a rectangle one of whose sides is 5cm and diagonal 13 cm.
a. 74 cm? b. 96 cm? c. 60 cm?

d. 56 cm? e. Answer not known

QM OFusHIHT @I USHD 5 GF.10. LBHBID DIHeT cpenevall L b 13 G&.L6.
oleoney, OF6IIBHIHT LTLIL| SHT6wISH.

a.74 Qg.f b. 96 Gg. c.60 G&.8

d. 56 QF.5 e. alewL Gxflwaisvenev

The area of a rhombus is 150 cm?2. The length of one of its diagonals is 10
cm. The length of the other diagonal is:

a.25 cm b. 30 cm c. 35 cm

d. 40 cm e. Answer not known

QM FIUI FHPSHHST UFlilene] 150 QFI. SIBe clpenevail L hiselled eeiisle
pemd 10 G&5. RO cpemev AL L HIHGI HED 616316017

a. 25 Q&1 b. 30 Q&6 c. 35 Q&1

d. 40 Q&5 e. alewL Gxfwalsvensv
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50.
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Area of a square is equal to the area of a circle. If the radius of the circle is
14 cm. What is the approximate length of a square?
a. 20 cm b. 25 cm c. 30 cm

d. 30 cm e. Answer not known
FHITHSH T LUTLLeTD Ul L SHFHe UFLILeTaDd FIOW. aul L SHHeT b 14 OF. LS
o160 FHTHI G LSBSHFHe CHTITW Sjeney Wimgi?

a.20 cm b. 25 cm c. 30 cm
d. 30 cm e. alenL  Oxflwalevemnso
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A

A

A
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A
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A

B
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